4B 2006 CIRCLE GEOMETRY 15th August

Use your own paper. Attempt all questions. Show all necessary working.

1. Find the value of the pronumerals in the diagrams below. Show all reasoning.
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Copy and complete the following proof:

Given:Let AB be any arc of a circle with centre O. Let P and Q be any two
the circle on the opposite arc. :

Aim: To prove: LP = /Q

Construction:

Proof:

points on




TS

2 Circle Geometry

Prove that AB + DC = AD + BC.

The two circles touch externally a T, and XTY is the common tangent at T
Prove that AB || QP.

5. AB and CD are two parallel chords in a circle. AD and BC intersect at E. If
LABC = 35°, show that AE = BE.

In the diagram above, AB =AC.

(a) Prove that LCPQ = 0.

(b) Prove that /CPA = ¢.

(c) Hence prove that PQYX is cyclic.
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